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QUESTION 1

An administrator connects an HP printer to a dot1x enable port, but the printer in not accessible Which feature must the
administrator enable to access the printer? 

A. MAC authentication bypass 

B. change of authorization 

C. TACACS authentication 

D. RADIUS authentication 

Correct Answer: A 

https://community.cisco.com/t5/network-access-control/ise-for-printer-security/m-p/3933216 

 

QUESTION 2

An engineer is configuring 802.1X and wants it to be transparent from the users\\' point of view. The implementation
should provide open authentication on the switch ports while providing strong levels of security for non-authenticated
devices. Which deployment mode should be used to achieve this? 

A. closed 

B. low-impact 

C. open 

D. high-impact 

Correct Answer: B 

https://www.lookingpoint.com/blog/cisco-ise-wired-802.1x-deployment-
monitormode#:~:text=Low%20impact%20mode%20works%20similar,DHCP%2C%20PXE%20boot%2 C%20etc. 

 

QUESTION 3

Which file setup method is supported by ZTP on physical appliances? 

A. cfg 

B. iso 

C. img 

D. ova 

Correct Answer: C 
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QUESTION 4

What is the maximum number of PSN nodes supported in a medium-sized deployment? 

A. two 

B. three 

C. five 

D. eight 

Correct Answer: C 

Reference: https://www.cisco.com/c/en/us/td/docs/security/ise/2-6/install_guide/b_ise_InstallationGuide26/b_ise_Installa
tionGuide_26_chapter_00.pdf 

 

QUESTION 5

Which two ports do network devices typically use for CoA? (Choose two ) 

A. 443 

B. 19005 

C. 8080 

D. 3799 

E. 1700 

Correct Answer: DE 
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